NOX

NOX
M15

NOX

2000cc
kg 4 EGR
NOX
CVS

NOX
NOX
NOXx

NOX
NOX NOX

NOx

NOX 10.15

NOX NOX
NOx NOX

NOX

1370 LTI e
waa‘:)r?rnr] b 1 H ! i
i ; 1|0kml/‘hH - T lxocwlt
; T fhrttd ) 1 IREERE 1VvVe 1Ty -
CVS f=i-v:1 1000rpm (1t Lt e : T
q’h ‘[i‘i; 5l /j~ T L ‘l:ﬁ,,
A i ,},, f L L
il e T
H - } NOx >
; N \ i
= A/ | : : |
NOX ! ’A & R e
IiiiiEs
‘ & - - revolution
L L e e e
‘ ! IRRRSSNR e ' et
s i 1 L -
Vi
Ect/ SRRy e LT
YRR A T T e i i

CVS

-21 -



CVS CVS

NOx CVS
CVS NOx
NOX NOx
NOX NOX
NOX
R(S [ T L* | O
G(9) Oo— — ]
1 [] 1 [] NO((t)
NOX 5| '—J ovs
‘IGE(S) N
NOX
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NOX
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10

2.79/km 2.5 2.9g/km
NOx velocity
100ppm rev. rpm
10Km/h vel km/h
[ *1000rp \ NOx
I \ | =———NOx
NOX
on
\Xw
NOX
10 M15
10.15
1 1.5
10M M15 10.15M NOX
A GAS(EGR) 2.7 gkm 3.2 gkm
25 2.9 2.8 3.2 NOX
B GAS(TWC) 0.036 0.078 0.033 0.084
0.039 0.043 0.038 0.039
C GAS(TWC) 0.25 0.97 0.21 0.82
0.28 0.48
D DIE(IDI) 1.6 1.3
15 1.3
E LPG(TWC) 0.076 0.069
0.074 0.089 0.13 0.16
GAS DIE LPG
EGR IDI TWC 36
1995.11
38
1997.9
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NOX NOX 1

NOW(S=G1(H1-GA9en(-T.SIR(S @
R(S @
R(9= Ri/S-Ri/Sexp(-T 9 + Ri/S )
@ 3
NO(t)=N1;(t)-N2i(t) (€)

NZ1Li(H)=RuAI[1 fa 12{exp(-a t)+a it-1}u(t-T i)/a 12
{exp(a 1(t-T i))+a 1(t-T i)-1}]+RaiAi/a 1 {1-exp(-a 1t)} 4
N2i(t)= RkAB /(0 12a 22)u(n )[{a 12exp-a 2n 1)-a 22exp(-a in 1)} (a 1-a 2)
+a 10 2N 10 1-0 2]-RiAB /(0 120 22)u(n 2) [{o 12exp(-a 2n 2)-0 22exp
(o 1n (@ 1-0 2)+a 10 2n 2 -0 1-0 2H+R¢GABU(n 1){1/a 10 2
+Ha 2exp(-o 1N 1) -a 1exp( -0 2n ))/(0 10 20 1-0 2))} (5)

o 1=UT1, a2=UT2,0 t T i ti,n1=t-TL, n=t-TLT i

Gi(S) NOx G2(S) NOx t; (
i ) T i, Rai;
Rdi:( ) ( ) Ai; NOx
B; NOx u(t); Ti; NOX Tz; NOX
Ti;NOx
NOX ()
NOxs(t)=NOxi(ti ) exp(-a 1t) (6)
ti t
NOX ©) @)
k
NOxe(t) = & [{u(t) - u(t - )} NOX, (t) +u(t - t; )NOX, (t - t,)}] (7)
NOX (6) Vs NOX
®
NOX(t) = 1/T, ¢expl- Mt - 9)}NOx, ()dq ®
0
¢ =1T. TCVS
NOX No @ N (€))
N(t)=NOXx(t)+No 9)
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